Practice Problems

Solve the following equations:
Remember that the arguments of all logarithms must be greater than 0. Also exponentials in the form of a*

will be greater than 0. Be sure to check all your answers in the original equation.

1 31=83 22.3*"2 =81
2. 87=4 23.loggx =5
3. e¥=5 24.logyx =3
4, -14+3e*=11 25.1og, 2x = log, 100

5. =6+In3x =0
6. log(3x+1)=2
7. nx-In3=4
8 2In3x=4

9, BFE ==
10.In(x+2)2=6
11.473% = 0.25
12.2e** —5¢* -3 =0
13.log; 3 + logy x = log, 32
14.2loggs4x =0
15.log, x + loga(x = 3) =2
16.log,(x + 5) = loga(x =2) =3
17.4In(2x+3) =11
18.logx —log6 = 2log4
19.2* = 64
20.5* =25
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